EARAROBEEIERT — 2 N— IBISH —F

2013128158 (H) SHEFR6H

m/\“i—)bﬂé‘rjz S #—-7> 45%3® L (BE) UFE) 3T ‘ [Xiz] % ‘ [eErsm]  — | & (%) 20000 B
[A&4] 1 7 :20,000,000 2 7% :8,000,000 33 :5,000,000 4 3% :3,000,000 3 5 & :2,000,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— FLE—HR :04. -4-5- . . FHEE (ER)
1178 FLSIET L2 — o4 oo 2((21)6 4-4-5-4 36.5| 109.2 5 (i?g) ?‘%ﬁ%
:trsnJaqd4 B:FLTY43 weE S K
. # 3 | C. vaUTL 2:04.9 4-4-3-4 | 37.0|106.4| 2 484 | IRt (3E3R)
] 2| VBV 55.0 (1 3/4) G | D BFoL-vry
R RYZYZITR B:SNYF—IL EBRT7—L
. it 5 | EREJ 2:05.0 7-7-6-6 | 36.7 [ 105.5| 7 490 |HAHIEE (ER)
3/8|10| # M AXTO~ * 56.0 (3/4) (-2) A(*ﬁ) HBEL—ZK—Z
LA LINT Ry TR B:Y L TF—I143-2 (B) #BA3—-RKL—va>AaE77
. NV 4 6 | C. bx—J 2:05.1 2-2-2-2 | 37.4(103.3| 1 508 | FHEE (ER)
41719 N—FrE—-FV>T 56.0 (1/2) (-4) (B) AL —XK—2Z
:€r/0704 B:74-NTIL—E— HET7—L
RSN N t 4 | dekkR— 2:05.2 8-8-8-8 | 36.7 | 103.6 | 4 504 | AER— (ER)
5/5/5|J7>X—"7+— [B] * 56.0 ) © |H H Yzq7-FnsK
&:Cherokee Run B: =1 —F+7T&2—2 H—L—- T x> T7—LARS
= 5 6 | AHREH 2:05.2 2-3-3-2 | 37.4|102.5| 6 512 | iIZFEH (RR)
6] 3| *7ARAYX b “ 5.0 s o) | EFRAA-LF TR ()
A:Golden Missile B:/N\1{ 21— h—L EEEpNES e
WA ¢ N t o6 | BREET 2:05.8 6-6-6-6 |37.6| 96.9 | 9 508 | EAARR= (ER)
7 6 2 RIN—IN % 56.0 ! (3 1/2) (-2) (%) &4/ v
L:TLLFFE2T BiL—RDL ITuMTRIAL
S 4 | NIBFE= 2:05.8 11-11-11-11| 37.0 | 98.0 | 10 | 530 |3E/lIFTEZz (RR)
8 4| F—ARIAFN> " 56.0 (7€) (o) | M) 223
R:TITRAEXAL BiF—XINLAH &I E—
= 4 6 | BEAMHZ 2:05.9 8-8-8-8 |37.4| 97.1 | 8 470 | HBOBARER (FBH)
9|8[11|¥7VL7 56.0 (172 0 |EFEAE-LF T2 @)
xR TAANXN B:Ovxv=F> J—YTr—LA
i “ 4 o6 | ESEME 2:06.3 8-8-8-10 |37.8| 92.5 | 11 | 492 |=fi&z (EX)
EE 71 7nay s [B] 56.0 @ 1/2) © |AwkEt
LAY wII4—7 B:24¥770-X BR&M LxPr b T7—4
oo, — o4 | ERIEX 2:06.7 1-1-1-1 |39.2| 90.2 | 3 494 | THEEZ (ER)
11111 ¥adr>= 56.0 2 1/2) (g |H H. Y17 FNxF
LT RIA ¥ L—> B:d—2L40F1— H—L— - TS  « T7— LERE
@ 21 L
£ 49.8-37.1
NA> &AL | 12.4-11.7-12.1-13.9-12.3-12.4-12.7-12.4-12.1-12.6
® 1—F—@EBIERL
13=3F= 1(3,9) (2,8)-6,10(5,7,11)-4
20—F+— (¥1,9)3(2,8)-6,10(5,7,11)-4
Jo=5r= (x1,9) (2,3)8(6,10)-(5,7,11)-4
40—+ — 1(9,3) (2,8) (6,10) (5,11)7,4
[ N5
B 8 840H 714K 2-8 750 e E 2-7 4108 JEE 2-8-10 8,660
8 B 8 260M 8-10 1,430H B E 2-8 2,180M JEH 8-2-10 43,530
2 200H 2-10 1,150H B H 8-2 4,630M
10 380F

ABICOVWTRDTEEERROODE. TR LIV,




